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1# 1 32 / 21263 / 21263
2-1# 1 32 / 15508 / 15508
2-2# 1 32 / 12916 / 12916
3-1# 1 32 1 12916 1600 14516
3-2# 1 32 1 13005 1689 14694
4-1# 1 32 1 15508 2167 17675
4-2# 1 32 1 13005 2153 15158
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1.3

1# 2# 3# A4A# SC200/200
1# 2# 3# A4A#
1# 24 3# A
SC200/200TD SC200/200TD SC200/200TD SC200/200TD
2x 2000kg 2x 2000kg 2x 2000kg 2x 2000kg
36m/min 36m/min 36m/min 36m/min
107m 107m 107 107
110m 110m 110m 110m
2x 2000kg 2x 2000kg 2x 2000kg 2x 2000kg
250kg 250kg 250kg 250kg
25% 2% 3x 11kw 2x 3x 11kw 2x 3x 11kw 2x 3x 11kw
SAJ40-1.2 SAJ40-1.2 SAJ40-1.2 SAJ40-1.2
9m 9m 9m 9m
7.5m 7.5m 7.5m 7.5m
2x 2200kg 2x 2200kg 2x 2200kg 2x 2200kg
2x 800 2x 800 2x 800 2x 800
Og Og Og Og
@ 76x 4.5 @ 76x 4.5 @ 76x 4.5 @ 76x 4.5
170kg 73 170kg 73 170kg 73 170kg 73
N 3.2x 1.5x 3.2x 1.5x 3.2x 1.5x 3.2x 1.5x
8 2.5m 2.5m 2.5m 2.5m
650% 650x 650% 650x 650% 650x% 650% 650x
N 1508mm 1508mm 1508mm 1508mm
14470kg 16510kg 14470kg 16510kg
289 .4kN 330.2kN 289 .4kN 330.2kN




1 (JGJ59 2011)
2 JGJ33-2001  J119-2012
3 (GB10055 2007)
4 (GB/T10054 1996)
5 (JGJ46  2005)
6 (JGJ80 1991)
7 (GB50009 2001)
8 sc
9 GB/T 10054-2005
10 6B50007-2010
11 GB 50010-2010
12 JG6J215-2010
13
3.1
1# A-11 A-12 A-11  1.0m, A-12  3.00m
A-K 1.67 2# B-18 B-19 B-18 1.35 B-19
1.55m  C-N 0.9m 3# D-2 D20 D-2  26.75m, D-20
1.5m, D-N  0.3m 4# F-20  3.0m, F-L  4.1m
K=0351921147 Y=2351921. 064 Y=0351936,604 ¥= 2351936430
Y=443026.290 Y=443030.089 1=443086.506 F=443092.504
Y=0351932 605 v-935193).480
Y=235915.149 pE— T=4H43086.423 Y=443092.471
¥=443026.166 " '
Y=443030,165




f=2351935.248 $=2301935.124 X=0351933.650 ¥=2351933.526

Y=443152.037 Y=443158.036 Y=443751.001 Y=443957.000
D ¥=7331929.657 ¥=2351920.527
¥=2351931.250 _
= Y=443750,91 Y=443256.416
V=44315] 954 #=2351931125 3750918

Y=443157.953
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10054-2005 GB10055-2007
GB50007-2010 GB 50010-2010
JGJ215-2010

1
1
SCD200/200TD
(m) 110 (m) 1.51
(m) 0.65 (m) 0.65
(kg) 170 (kg) 0
(kg) 2540 (kg) 2000
(kg) 1480 (kg) 200
2
(kPa) 150 0.6
3
C35 HRB400 12@200
HRB400 120200 1(m) 6
b(m) 4 h(m) 0.35
2
73 170kg 170kgx 73=12410kg

P=((2540x 2+1480+0x 2+200+12410)+2000x 2)x

10/1000=231.7kN

P=(1.2x (2540% 2+1480+0x 2+200+12410)+1.4x 2000x 2) X%

10/1000=286.04kN
n=2.1
P=2.1x P=2.1x 286.04=600.68kN

G=25% 6.00x 4.00x 0.35=210.00kN
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G 210.00x 1.2 252.00kN
F 600.68+252.00=852.68kN
f.= 150.00% 6.00x 4.00x 0.60 2160.00kN > F=852.68kN

S=6x 4=24m’> (P,+G,)/f.=(231.7+210)/(16.7x 10%)=0.03m’
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P;=P/S=600.68/24=25.03kN/m’

Bw -- B w=1

hy -- h=350-35=315mm

A -- A=4x 2.32=9.3n’

a --

. —- a

a, --
a,=a+2h,=0.65+2x 0.32=1.28m
a.=(arta,)/2=(0.65+1.28)/2=0.96m
Fi Pix A=25.03% 9.3=232.77kN

0.7B wF@h,=0.7x% 1x 1.57x 965x 315/1000=334.07kN=> 232.77kN

M, = (&’ /12) [(21+a) (PraxtP-26/A) +(Pra—p) 1]
M, = (1748) (1-2")’(2b+h") (PrectPrin-2G/A)

My, M, —- 1-1 2-24bAEM TR AR E SR EERIHE
a, -—- 1-1 a,=2.68m

1,b —-

Prax s Prin ==

Prax=Pain=(600.68+252)/24=35 . 53kN/m’

D -- 1-1
P=Prax=35. 53kN/m’

G - G=1.35G,

G=1.35x 210=283.5kN

M=2.68°/12x [(2x 4+0.65)x (35.53+35.53-2x 283.5/24)+(35.53-35.53) x
6]=244.65kN- m;

M,=(4-0.65)*/48x (2x 6+0.65)x (35.53+35.53-2% 283.5/24)=140.28kN- m;

a. = M/ (a . fbh?)

Ci
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& =1-(1-2a )"

Ys=1-¢& /2
A = M/(y hof)
o, -- c50 a, 1.0, C80
1 0.94, a,=1
1-1 a =|M]/(a f.bh,)=244.65% 10°/(1.00x 16.70x 4.00x 10°x

315.00°)=0.037
& =1-(1-2x o ,)"*=1-(1-2x 0.037)*°=0.038
y =1-& /2=1-0.038/2=0.981
A=IMI/(y <Fho)=244.65x 10°/(0.981x 360.00x% 315.00)=2198.81mm’
2-2 a =|M]/(a ,f.bh,)=140.28x 10°/(1.00x 16.70x 6.00x 10°x
315.00°)=0.014
& =1-(1-2x a ;)"*=1-(1-2x 0.014)*°=0.014
y =1-& /2=1-0.014/2=0.993
A=IM]/(y <Fhs)=140.28x 10°/(0.993x 360.00x% 315.00)=1245.93mm’
1-1 A,=2375.04 mm* > 2198.81 mn’
2-2 A,=3506.02 mm* > 1245.93 mn’
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